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N = 2400 e-
Kt

2050--2400 e-
3k

K = 0^0525429

Yr 2017
,
-1=7

NI 2400 e-
° ' 0525 (7)

= 1661.41

≈ 1661 birds .

{ < e-
0-0525 (t )

I > 13.19

In Yr 2023
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By factor theorem f1-2) = 0

- 8 +4a + 6 +b = 0

4a+b=2-%
By remainder theorem f(3) = 30

27 +99-9 +6 = 30

9a + 6 = 12-R

solving &&@ 5a = 10

a = 2

b =- b

(x+ 2 x-3x-b) = (x+2) ( x+Ax-3)

compare coefficient of x:6 = At 2

A = 0

(x+ 2 x-3x-b) = (x+2) (x-5) (x+R)-
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4) SIOcoSD = 1

CSM20: 1

SI2@==

& = 300

28= 30', 1500, 3900, 5100

8 = 15' 75°, 1957, 255
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3h = 2000

2000
h = s2

9A: 6x +2xh +6xh

6x+0x(o)
= 6x+000
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A = 6x+6000

*= 1x-18000
When A=0 12x = Go

x= 1000
x= 7.6314

- 7.63

*= 1x-16000

-A =

12+ 30

da/x
= 7.63

>A is minimum
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CHS: tun (30+459)

=sootfanLs5o
=Itfl=s***

·St
= 2 +B
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see75=1+tan75' = (2+ 53) + 1

=4+453 +3+1

=8+4T3

cos"75: Elseforisa
= ERT
~E-t5
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=>·OneRe
let = W

W+ we = 15
We+45-60 = 0

(W +10)(w-6) = 0
W =

- 10 or 6

8= -10 or = 6

rej x
=t = 2.58
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When X = 0 when y= 0

y = 4 &24=5

B(0,4)
x = I5

A (En5,0)

y=5-e**

dy= -he
*

CIn5)

/xizing- be
In 5

= - 2 e

= -18
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see diagram
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=R sin@coS4 - RCOSO sind

=(Rcoss) sinc-(Rsinc) cost

30 =Rcosd fand =e
2 = 33.7

R=J0T38= 10ST

·30 si8 -20crs8 = 1055 Sin (8-33.70

Sin (8-33.73: T
* = 16.1

8 - 33.7= 16.1

0 = 49.8
=
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*= JSTH + E(2x+1)(2) (x-3)
=Iisa
· s

&= 0.15

/=y==t

dy: af oft
=tot
= I units/s
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·"*fY ax= (ix-BCTTI)

."fdx-/"**: [3-11

3)"+dx = 6 + [24x+D7

&x = H-2
10

=

E
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<x-85+Ly-1)-25=0

centre (8,1) radius:5
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Egn of normal y-1=-2(x-8)
3 = -x+5 solving x = 5

3 = cx 3 x = 2

y = 4

RegDist: STF+ 14-17
=

$45= 6.708 = 6.71 > 5:radius

:

line 422x does not cut circle

let (be (x, y)
X+1/
z

= 8 Is: 1

*= 5 y =
- 3

·D(5,-3}
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y = 9(3-2x)
"

A(0,3)

* = = 9(3-2x)"H2)

aniiosicleT==
Eqt of tangent: y-1texts) so B30,5): Closer to A
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1.9cs-2xdx-115 + 1)(3)
= [-E1-cx1]. - 4

=-fln3-F1In9) - 4
= - [l3 +8 1n9-4
-th3-4 a = 86=- 4
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